SF0 TS i = X 15
IR 4 o BAS AR L AT LRSS
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
B HRIL N 11| Fe¥E ph¥E g l:lzzj
AR £ L1 e bW o b
| ] AT {L A X
1 EREiR B s Py o 2 R il KO — 3. o 4.2 | —
2 FEREAAh o Mgk L1 5 5 8. 4 1.7}k 1.7
EELIA 0 i 110 3. 2%l 4. 200 1. 7%l 1. 7]
7y 4R AT LA DI
1 FRETRBUME o B A Hi X s ol 420 | —
2 LRELU o i 11| 5.5/ 8 4 1.7 1.7
EELIA O Hi L1%3J%4JL1J%1J
Z| N TR AR X g
1 REERE N o 2 A O —ft 3.2l 3.5 | —
2 LELU OISR L1 5.5 8 4 1. 7%f 1.7
RFRLLA o> Hitkek LlﬁSJ%SELIJ%IJ
e =i T L X
1 RERBHE N 0 B Al X i 3.2 4.2f —|  —
2 _ERCEA Ot L1|H 5.5 g 45 1.7 1.7
LRCEAS: oD Hsg 1.1l 3. 20 4. 200 1. 7}%E 1.7
2| Rk AL X 20 1.1 ttiﬁrﬁﬂzﬁ tt%ﬁ[ﬂtt?@
A LA K ik
1 FREEIREMG N o B A K B T —
2 RERLS O L1 |# 5.5 7.7 1. 7l 1.7
= HIR T TR X
1 BEEEREHIE P o A K0 ol 3. o 4.2 —| —
2 ELS o 11| 5.5 8. 4t 1. 7% 1.7
_EEELIAN 0> itk L1 |l 3. 2 4. 20 1 7jl 1.7
EFEEAS O LT [ikczp (s 1.1 tl:z’érql:hf% J:l:i’érkl:l:i”é
AT LR (X I8




S0 TS s R K 28
HEERTA 4, SOk LR LT LIRS
e R ks @ A o w4 [P PEEERTIBEITOGES
LRUAOTINT | 1 SRR o R A HOR L A S e O
2 _LEELA o M L% 5.5 7. 780 L 70 1.7

EERLLAL o> Hiag 1.1 (il 3.2l 4. 200 1. 7E 1.7




